[image: image1.png]5. (10 points) Within the context of the CAPM assume: (1) the expected return on the
market is 15%, the risk free rate is 8%, the expected return on Hennessy.com is
17% and the beta of Hennessy.com is 1.25.

Which one of the following is correct? Explain.
a. Hennessy.com is overpriced
b. Hennessy.com is fairly priced
¢. Hennessy.com’s alpha is -.25%
d. Hennessy.com’s alpha is .25%

6. (15 points) Consider a bond paying a coupon rate of 8% per year semiannually (that
1s, it pays 4% per half year) when the market interest rate is 3% per half year. The
bond is noncallable and has three years until maturity. It’s par value is $1,000.

a. Find the bond’s price today and the bond’s price six months from now.
b. What is the total (six month) rate of return on the bond?




